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New diffusion

Tracks have been redigitized using
the digitization parameters
presented by Rita Roque

Increasing the diffusion should
lower the density (that resulted
to be too high in the simulation)

Tracks redigitized have been
compared with the latest results
obtained from data with sPlot.
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Not great,
not terrible.

Trendline from V.C. Antochi et al., 2020
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: 0.0784, # diffusion constant [mm]A2 - Original
: 0.01232, # diffusion parameter [mm/sqrt(cm)]A2 for 1 kV - Original

: 0.260, # diffusion constant [mm]A2
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counts

Linearity and Energy resolution
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Linearity and EReso essentially unchanged



|dentification of high density events

Density Simulation histogram

[ Densitysimz |
§ = 1 Entries 581 |
8 o018 + 1 Mean 26.85
C + ] Std Dev  3.484
0.16— ]
- + ]
o o 5 . 014~ 1
Not a clear identification of events with = ;
0.12— ]
higher density in the simulation B
o.an.
- +
0.06f-
o.ozf_ i
sc_integral/sc_nhits:sc_length {sc_integral>3000}
) —u ) —8
E 38 = £ ss—
| - | —
2 36 16 2 36 —7
s [ s
g a3 g s N
'El E —I5 .El E
& 32— 3 32—

- — 5
30:— & 30:_ ]
28] 28— 4

LR T S N R 3 e = = === ==
26— 26— 3
24— 2 24—

= = = 2
22— E= - 22—

- 1 ~ 1
20_— - 20__

:lllllllllllllIllllllllIlllllllllllllll :1|||1111||||11111|||111[1|||||11
1835 40 45 50 55 60 65 70 . 1 0.5 0.6 0.7 0.8 0.9 ?

1
sc_length sc_width/sc_length



Plans for the future

It seems that we reached a good point in therm of data-mc comparison

A last comparison can be done by studying better the data with the sPlot

The hight statistic sample can be produced to Study again the directionality
(Last results on directionality were with a factor ~4 less light)

With the new results on directionality | can start to study the solar neutrino
case



